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Å7HƒCì? f ( 0 ) ~ f ( x ) = x 

2  - 9x + 20 ŠzŠgYM¥0 .5
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ì (Slope) Ã�häzZáâÅeyy ( 5,  2 ) Zzg  ( - 4,  1 ) Õo .8
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6 < 1 = 6 Šg`fsÎZÑ]i<: .II
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»ŠgzC�X x 

3 + 2x 
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Å7¥x<X 3 cosec x ƒÂ sin Z¤/ .12

%zoÅâbR»gK¥x™ä»Ÿ‚sX .13
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G

·Å7¥x<X -y ~ 6x - y + 3 = 0 â .14

eñZzg»°ŠzâVI™D�X¤/z{ 16 »°Zzg 25 Z�ÛZŠeñÔ 30 PZ�ÛZŠÆ¤/z{~ .15 .III
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qÝƒD 1 Zzg 4 Ð„HY@*ìÂ{g•ëZzg!*¹!*nKM b ÃZq-°Š 53 Z# .18

2 Å7¥x™,X b �X

YñÂGŠ°ŠqÝƒä» "&Áõ
GNOîg6,H J-ÆZ°ZŠ~ÐËZq-°Š»ZN[ 18 Ð 10 .19

2 Zky¥x<X

2 »qÝ¢[¥x<X Zzg .20

2 ©')é ENÃëw¯Dƒñ¿<: .21

2 F,0Ì„Æ§jÐ{g`ëZzg!*¹¥x<: .22

( 3x 
3
- 2x 

2
 + 7x - 5 ) ÷ ( x + 3 )
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Ð x 2 + 2x - 3 ~H¦™ä6,z{M¥0 P ( x ) = x
4
 + 2x

3
 - 2x

2
 + x -1 M¥0

Ç„ƒY@*ìX Ç

2 ÃŸ‚Æ§jÐi<X x 2 - 7x + 12 = 0 .23
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Mð»¢¯�X¢ÆZq-u}6,8û EL˜k‚|# 6 cm ${ý
EL¢ÆŠZ],}~ 3 cm .24

2 <X

6,s H Ã̀ AE é« DB ìXzF, E 6,Zq-` BC áZi~ZÑHq~ ABCD .25

2 ƒ@*ìX  AH . HB  =  HD . EH ™@*ìXU*"$<�

2 iZztqŠ{ìX A ˜V ( 1 - sin2 A ) ( 1 + tan2 A ) = 1 U*"$<� .26

2 ÆŠgxyÃ,¥x<X ( 6,  6 ) Zzg ( 2,  3 ) Õo .27

%,T¢aìXZ2ZäÆ‡°}»Û¢¥x 88 R»gK $ —~zZáZ2ZäÅ 7 cm .28

2 <X

ìX%zo»w¥x 27 cm Zzg 14 cm Zq-%zoÆ‡°}»Û¢Zzg—~!*nKM .29

2 <X
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Û¢Æ°æ N{»w¥x<X 21 cm
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2 Šg`fsZ0+gZY]ÐûZgyZy»u¯�: .30

[ 20 m = 1 cm : e: ]  

J-D ¢a

J- E 40 

140

100

60

 20

J- C 40

J- B 30

Ð A

 B = { 2,  3,  4,  5 } Zzg A = { 1,  2,  3 } Z¤/ÃL .31

Æf~ÃLƒVÂ¤&<X U = { 1,  2,  3,  4,  5,  6,  7 } ÃL

2 ( A ∪ B )/ = A/ ∩ B/ 

2 Zg»yJ-»ù·¥x™,: 15 Ð 3 + 6 + 9 + ...... .32

oƒŸ‚ZEw™Dƒ}
 A.ø

E
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2 ¥x<X

2 »ÃLs: cñi Šg`fs"&Áõ
GOŠ!*]Æ .34

Zq-]Âî OZq-%ûQYÑŠHX (i
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ƒX m = 2 Zzg k = 100 Å7¥x<² v Æni<Zzg v ƒÂ Z¤/ .36

2

2 Æ_.g)z~ƒD�X x2 + mx + 4 = 0 Å¾µ76,)zZ]  m .37

ƒÂ CE = 12 cm Zzg AD = 5 cm Ô BD = 6 cm Ô DE || BC  ~ ∆ ABC .38

2 ¥x<X AE

¥�XyÐZyÆZjwWäÆZfgZù].zw~Cñ‰�X 36 Zq-)®)~ .39

2 ZyGzŸ]Ã0*ðeg^ÐªCÙ<X

ZjwÃWäÆfgZù aw ‚¡ '

¥Å®ZŠ 12 18 6

ìXZk~HŠzŠ|�Yì¥x<X 14 cm Zq-Û°æ Nz~\á»Z0+gzãÛ¢ .40

2 )kT¢a~(

úgÂVÅËqÆ 3 Z�ÛZŠ6,ŒZq-w¯ãìXÁZiÁ 5 úgÂVÆ¤/z{Ð 4 %ŠZzg 6 .41 .IV

3 ‚BtÀÄ§hVÐeìX
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3 Šg`fs].zw~ŠØ‰GzŸ]»£g~Z�Zs¥x<: .42

( C-I ) ¤¤¤¤////zzzz„„„„zzzz9999 ( f ) ®®®®ŠŠŠŠ

0 - 4 1

5 - 9 2

10 - 14 3

15 - 19 4

N = 10

%,T¢aìXlÅMðZzgahZð¥x<X 96 ZzggK 40 cm Zq-l»Zq© .43
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kHìX 4 »Zq-_.gŠzu}_.g» x 2 + bx + c = 0  )zZ]

3 ƒ@*ìX  4b2  = 25c U*"$<�

3 U*"$<�Ûzã`ÐŠZ],}ÃQ‰è¹̃k)z~ƒD�X .44

3 ìAC 
2
 + BD 

2
 = 4AB 

2
 ¥~U*"$<� ABCD .45
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»U*"$<� BC zV`ì D Zzg  ∠ABC = 90°~  ABC

AC 
2
 = 4AD 

2
 - 3AB 

2

ƒÂ¤&<�  B = 30° Zzg  A = 60° Z¤/ .46

cos ( A + B ) = cos A . cos B - sin A . sin B

c*

3 = 2 cosec θ U*"$<�

ìXZkˆ!£° 224 ZzgQyÆ%ŠV»ù· 24 Zq-ˆ!£°ÆZ’Zð&Zg»y»ù· .47 .V

4 ÆZ’Zð&Zg»y¥x<X
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ìXyÎ~ 112 ZzgZŒ&Zg»y»ù· 14 Zq-yÎ~£°ÆZ’Zð&Zg»y»ù·

£°¥x<X

4 U*"$<�LLx/!5Ò5é
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]ÆgKY]ZyÆpÐø̂VÆ%ŠVÆpÐƒƒD�Xóó .48
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Û¢ÆŠzŠZ],zVÃŠzgZ„œ�è¹˜k‚|#<XÆ 2 cm Zzg 4 cm .49

4 Šzg~6,ƒVZzgZygZ„œ�èõkÅM×V**�WX 9 cm %Zœ/

4 F,½§jÐi<X x 
2 - x - 6 = 0 ŠzŠgY)zZ] .50
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